FOR MOTOR BODY /
CLUTCH ROTOR ASSEMBLY
SEE DRAWING 85008153

82001018

SHIM CLUTCH TO ACHIEVE
0.2MM AR _GAP

2000657

2001468

P — ]

—
=<7

—_————

MANUAL & TEST
INTO BAG. COIL
TOGETHER AND
| BAG / SECURE
> WITH CABLE TIE

ol | o

&

82000547 Kg2> 1Nm

82000213 Kn2)21Nm
3
82000627

82000171

2

82100114

APPLY GREASE TO
GEAR SET PRIOR TO

ASSEMBLY
85000465

FOR 1/4 HP INTERFACE
ASSEMBLY SEE DRAWING
88000200

[}
[
\.

COPYRIGHT:—

THE DRAWING AND ALL THE
INFORMATION PROVIDED ARE
PROPERTY OF LEWMAR LTD AND
CANNOT BE REPRODUCED,
TRANSFERED OR MODIFIED
WITHOUT PERMISSION.
COPYRIGHT LEWMAR LTD.

GENERAL_NOTES:—

1. ALL DIMENSIONS IN BRACKETS ()
ARE FOR REFERENCE ONLY. ALL
DIMENSIONS ARE IN MM UNLESS
STATED OTHERWISE

2. M4 BOLTS TO BE TIGHTENED TO
2.5Nm +0.5Nm

3. M5 BOLTS TO BE TIGHTENED TO
5.0Nm +1.0Nm

4. M6 BOLTS TO BE TIGHTENED TO
9.0Nm +1.0Nm

5. M8 BOLTS TO BE TIGHTENED TO
21.0Nm +2.0Nm

6. M10 BOLTS TO BE TIGHTENED
TO 43.0Nm *3.0Nm

PRODUCTION NOTES:—

n1. TYPE PART NUMBER, SERIAL
NUMBER AND VOLTAGE ONTO MOTOR
ID TAG

n2. USE LOCTITE 222
THREADLOCKER

n3. SHIM QUANTITIES MAY VARY, TO
BE DETERMINED ON ASSEMBLY

n4. DO NOT TIGHTEN — FINGER
TIGHT ONLY

comeen| | ChANSE P
04/07/06 B | REDRAWN _|DW
1/09/06[ C | ECR#1209 [pwW|
[20/03/07 D EQ%_ 540 oW
+5 08/07] E | _ECR§1821 D
PROJECTION:—
FOR EXTENDED CONSTELLATION
SCALE:— 1:1.5 @ A3
NOSE ASSEMBLY SEE DRAWING | [SAE= _Tis o/ |
85006457 DATE:— 04/07,/2006
SHEET.— T OF 2
CHECK'D:—
[ TTLE:— LEWMAR
B B PR, AR WA,
CONSTELLATION DRIVE
DWG NO:— REV

EXTENDED OUTPUT

89300090 E




